Drain: THOMAS FOUCH Improvement/Arm: RECOLISTIC Operator: J. LIVING STON Drain Classification: Urban/Rur	Date: 12-24-03
GIS Drain II	nput Checklist
Pull Source Documents for Scanning	- for f
Digitize & Attribute Tile Drains	
Digitize & Attribute Storm Drains	
Digitize & Attribute SSD	
Digitize & Attribute Open Ditch	
Stamp Plans	
Sum drain lengths & Validate	
Enter Improvements into Posse	- for
Enter Drain Age into Posse	
Sum drain length for Watershed in Posse	

Check Database entries for errors





Kenton C. Ward, Surveyor

776-9626

Noblesville, Ind. 46060 March 15, 1984

To: Hamilton County Drainage Board

Re: Thomas I. Fouch Drain

Attached are an assessment roll, drain map, drainage shed map and reconstruction plans for the Thomas I. Fouch Drain. This drain is located in Sections 9 and 16, Township 20 North, Range 3 East in Adams Township. The drain consists of both open and tile ditch and is 5700 feet in length.

The drain was constructed in 1884 and according to records found in the file, it has been assessed in 1931, 1935, 1940 and 1948. Upon inspection the tile was found to be in good condition with only three holes between 276th Street and the outlet. These are the result of the poor condition of the open ditch which is in need of reconstruction. The cost estimate of this work is as follows.

3100 ft dredging @ \$2.50/ft	\$ 7,750.00
380 ft bank reconstruction @ \$2.00/ft	760.00
4 ac seeding @\$250.00/ac	1,000.00
1.5 ac clearing @1500.00/ac	2,250.00
2 sediment basins @\$300.00 each	600.00
1 Structure	2,000.00
Reset crossing	300.00
1-12" CMP \$12.00/ft	240.00
1 - 12" Animal guard	25.00
	\$14,925.00
10% Contingency	1,492.50
	\$16.417.50

With 264.2 acres in the drainage shed the reconstruction cost will be \$62.16 per acre with a \$62.16 minimum. The maintenance cost at \$2.00 per acre and \$6.00 minimum will be \$546.40 per year.

I recommend a hearing be set for this drain on June 11, 1984.

Kenton C. Ward, Surveyor

KCW/jh

BEFORE THE FAMILTON COUNTY DRAINAGE BOARD

IN THE MATTER OF THE

	Thomas	I.	Fouch		DRAIN

. •	NOTICE	•	* :		***			
To whom it may concern and								
	•		·					
· -								
Notice is hereby given of the hearing of the Hamilton County Drainage								
Board on the Thomas I. Fouch Drain on June 11, 1984								
at 9:20 A.M. in Commissioners Court in the Hamilton County Court House,								
Noblesville, Indiana, and which reconstruction and maintenance reports								
of the Surveyor and the Schedule of Assessments made by the Drainage Board								
have been filed and are available for public inspection in the office of the								
Hamilton County Surveyor.								

Hamilton County Drainage Board

ATTEST: <u>Nancy Eller Oldham-Secretary</u>





Kenton C. Ward, Surveyor

776-9626

Noblesville, Ind. 46060 November 26 1984

TO: Hamilton County Drainage Board

RE: Thomas Fouch Drain

On November 9, 1984, I made the final inspection on the reconstruction of the Thomas Fouch Drain by Hendricks Excavating. At this time I found the work to be complete and acceptable.

The contractor has submitted two (2) releases from property owners. The release from Don Kirby requested the spoil on the McCutchan prperty be left so that he can truck it to his farm. The release from Wm Hillock asked that the brush be piled in his woods so that firewood could be cut from it.

The extra work on the drain amounted to \$7,087.00. This was for ten (10) outlet pipes, an additional silt basin and three (3) surface water structures.

The bid price was \$9,995.00 for the project. With the cost of the extra work, the total project price was \$17,082.00 which is \$664.50 higher than the \$16,417.50 estimate.

I recommend that this \$664.50 be considered maintenance expense and paid by maintenance funds.

A claim for the extra work has been paid along with a claim for 85% of the contract price. A claim for the retainer will be paid in January. A statement that all expense have been paid has been provided.

Kenton C. Ward-Surveyor

KCW/no